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1. Find the following derivative: 1m
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2. Find the lingar approximation L of f{x) =1 +» sin x at ¥ = 70 {10}
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4. Ghm's law for electrical clrouits is V s IR, where V is voltage (in volis), [is
current {in amps.) and B is resistance (in ohms.) Suppose that the resistance is
10 ohms {n our circult {fixed). If the voltage is decreasing at the rate of 2

voits per minute, what is the rate of change of the current? (10
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5. Find the area of the shaded region:

8. Write out the following sums:
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7. Write in sigma notation: . | {4}
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- 8. Carefully skelch the graph of f{x) = x® + 3x2 - 1, Find x-y coordinates of
critical points and points of inflection {if any.)

10. Sketch the graph of the fotlowing. Give equations of asymptotes (if any).
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